Direction Sense Test
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Direction is an imagination that can be
predicted with the help of the sun in the day and
the pole star at night. We know that the direction
in which the sun rises is east and the direction
in which the sun sets is called west. We can easily
understand the direction knowledge test. If we
stand facing the sun at sunrise, then that direc-
tion is east, backwards west, left side north and
right side is called south.

Today, in the competition of increasing com-
petitive exams, direction test questions are com-
pulsorily asked in almost all competitive exams.
The main purpose of this type of examination is
to check the knowledge related to the direction of
the candidate / candidate.

Generally, there are four types of directions,
but in addition to these directions in direction
related questions, it is necessary to have
knowledge of four other directions as well.

DIRECTIONS ACCORDING TO THE FIGURE

W (North)

fET (South)
FW (North)

syl

(North-East)

(South-West)  zfagor (South)  (South-East)

According to the diagram, the direction between north
and east is' north-east ', the direction between south and east
1s' south-east', the direction between south and west is' south-
west' and between north and west is called "North-West'.

Two types of questions related to Disha knowledge test
are often asked in competitive exams:

(i) Questions based on directions

(ii) Distance based questions

(iii) Shape based questions
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Mohan travelled westward 5 kms., turned left
and travelled 3 kms., turned right and
travelled 9 kms. Then he travelled north 3
kms. How far he is from the starting point ?

Hig ufvem ® @R 5 fl. amn e €, ik s
qeat 3 ferell. 1 A #xar € iR fR 3¢ qgat 9
foRell. T AT XA 2| T T8 SR I SR 3 TR HT AN
FA B o1 97 RfAe fog @ Rt T W feor 22
(a) 5 kms. /e (b) 3 kms. /.

(c) 6 kms. /& (d) 14 kms. /&

A man started walking towards West. He
turned right, then right again and finally

turned left. Towards which direction was he
walking now ?

Tk AT UfYEE Y R S SRS il €, 9 qh
o1 # 3R 98 TH: I gear 7 i ofd § a1d g
21 o = fR faen & = @1 T

(a) North/3™ (b) South/zf&ur

(c) West/qf¥=m (d) East/9@

Abhinav travels 10km north then turns left,
then he travels 6km and turns right and
cover another 7km. He finally turns to right

and travels another 6km. How far (in km) is
he from the point of starting his journey?

arfera SR faen &1 1w 10 fodt. =rom @ e e
R g5 o 21 R a7 6 fRdl. =om § den <&
e 7 oM. =eran 31 o7dq: 9 I IR gedr ¢ de
3R 6 for. . = 31 9 ST A % SIRfuS T
g foett g (FrH. #) w22

(a) 14 (b) 16

(c) 15 @ 17

Priya cycles 5 km North, then turns East and
cycles 4 km, then turns South and cycles 5
km, then turns to her right and cycles 6 km.

Where is she now with reference to her
starting position?

firn 5 .. S T 3R WEfRe = €, fr gd
AR g S @ 317 4 fonwli. ok wrEfmet = €, e
TR0 T @R g W ® @R 5 fwdl o wEfed
e €, TR 3Tt < @i gg St @ 37K 6 fep.of. e
el =t B1 9% 31O URfes feerfa o ot whel 872
(a) 2km East / 2 T 0@

(b) 2 km West / 2 T, qafeem
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(c) 10 km West / 10 ot afeem
(d) 10 km East / 10 fo#t. &

'A' starts walking towards North, turns left,
again turns left, turns right, again turns
right. In which direction is 'A' walking now?
'A' ST T 3R T € R o gedl 7, 98 A Sl
e & o1 9% I¢ el ¢ R TA: ¢ gEar €1
7z SRy fF o A fRg fxon & =@ w1 2

(a) North/3I™ (b) South /=fafuT

(c) West/qf=aw (d) South-East/3feo-gd
A man started to walk towards East. After
moving a distance he turned to his right.
After moving a distance he turned to his
right again After moving a little he turned
in the end to his left. In which direction was
he going now?

T A qd F SR O FRA F@T 2| FKD 3
T F 1% 98 10 U el B 39 9% § |/ T
T FH Az M M gl ¢, AR FB T For &
o1E 3fd | 9% I A1¢ qedr 21 o 9% fhe fawn
S @ 72

(a) North/3™ (b) South /&0

(c) East/qd (d) West/qfv=m

I went 15 m to the north, then I turned west
and covered 10 m, then I turned south and
covered 5 m and then turned east and

covered 10 m. In which direction I am from
the starting point ?

H ST T AR 15 H. T, TR ufesm 1 3R g iR
10 H. i @ i, fRe <feror Y o1k gey 8ik 5 . 5@
T T R qH: gd H AR ger R 10 H. # gl 7=
#1139 H sRfaew fag 9 for fron & €2

(a) East/qd (b) West/afy=m

(c) North/3T™ (d) South /=&

A man goes 5 km East, then he turns right

and goes 4 km, then he turns left and goes 5
km. Which direction is he facing now ?

T At 7d #T ek 5 fRw. S 7, fR aw qd
g 4 Fordl. ST €, 79 9% o1d gedr § aiik 5 fadl.
STl 21 o7 3Gkt g7 fwg faen o 772

(a) North/3™ (b) South /&0

(c) East/qd (d) West/qfv=m
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12.

13.

A man walks 4 km to the east turns left walks
4 km and turns left and walks 4 km. Which
direction is he facing ?

TF =Afed 7d #I R 4 fRH. @ 7, 9 g
4 T, ST 2 @i fe =l qeat 4 fodt. s 21
o9 SHH g7 Ty feen o 22

(a) South/zf&ur (b) East/gd

(c) West/qf¥=m (d) North/3T

If Ram's house is located to the south of
Krishna's house and Govinda's house is to
the east of Krishna's house, in what direction

is Ram's house situated with respect to
Govinda's house ?

I T 1 S, FON & - G <01 9 7 qeqn e
H W, FON F WY qd | B M= F R G W
1 R fora feon & 22

(@) North—East/?Eﬂ—‘ﬁ

(b) North-West/3W-qf¥=m

(c) South-East/ ?r?dUT—T:f

(d) South-West/3faor-ufy=m

Radhika went 50 metres south from her
house then turned left and went 20 metres

then turning, to north she went 30 metres.
In which direction is her home from this point?

TfereRt o1 SR @ feqor & 50 A W, SR R amd
AEHT 20 HI. TE, TA: T8 S &1 IR 30 H. M| 3@
ITH R 3H TF W Ty fan ¥ 22

(a) North/3I™

(b) South-West/IW-4f¥=H

(c) East/gd

(d) North-West/3W-qf¥=m

'X' is in the East of 'Y' which is in the North
of 'Z' If 'P' is the East of 'Z' then in which
direction of 'X', is 'P":

X, YHEHER, N FFZF WA AR P, Z
FYEEE, A X QP g o § 2

(a) South-West /<fao-ufy=m

(b) South-East/3famr-qd

(c) South/zfau

(d) West/afy=m

A is located to the West of B. C is located at
North in between A and B. D is exactly to

the South of B and also in line with B. In
which direction of C is D located?

A,B% u=g feon § fee@ 21 C, AT B& A& §
I H AR frord 21 D, B & =faqor 1 ford @ qen B
1 W W B C® wue D frd fawn § 272
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14.

15.

16.

(b) South-East / EF&TUT—‘ﬁ

(c) West/qfv=m

(d) South-West/3f&ror-ufy=m

Ram walks 10m South from his house, turns
left and walks 25 m, again turns left and
walks 40 m, then turns right and walks 5 m

to reach the school. In which direction is
the school from his house?

TH 7R R 9 Tfeq0r 10 W, wern 7, 91 g € 3
25 Hl. S €, QA 91¢ gEar & qe 40 H. Fe g,
o w@ Tge & fom o gea @ ik 5 . =@
?1 SUF R ¥ Tho fhg fawn o 272

(a) North/3T™

(b) South-West /3f&or-ufy=m

(c) North-East/3W-T&

d) East/tﬁ

Rani and Sarita started from a place X. Rani
went West and Sarita went North, both
travelling with the same speed. After
sometimes, both turned their left and walked
a few steps. If they again turned to their left,
in which directions' the faces of Rani and
Sarita are going respectively.

T TR AT T X @ = IRt & 3R I
= qe WiaT ST H TE, T 9AE T § 380 0
Fd 1 S GHF 915, 9 <A 3 TN S E/S
e et §1 7 3 T o A ged € @ e ek
Tftn form faem & w1 @1 22

(a) North and East/3™ R T

(b) North and West/St 3R qfy=m

(c) West and North/uff=m 3R 3w

(d) East and South /‘Ff AR Tferor

Rajat moves from his office to the canteen
straight at a distance of 12 metres. Then
he turned left and walked for 2 metres, Then

he turns left again and walks straight for
12 metres. How far is he from his office?

T o FwEied @ Her ®IH w1 R W R
ot g8 12 #. 21 ff 98 and e 2 . S
2, R g e et 12 9. den S 21 9w e
Hraterd @ faat g W 7?2

(a) 10 metres/®.  (b) 12 metres/

(c) 8 metres /™. (d) 2 metres /.



17.

18.

19.

20.

21.

A man walks 6 kms South, turns left and
walks 4 kms, again left and walks 5 kms.
Which direction is he facing now ?

T et <fEor fawn # 6 R, S €, and wea 2
3R 4 foefl. ST &, g A e & edv 5 fa, S
21 319 9% frw feem & W @ @2

(a) South/zf&ur (b) North/3™

(c) East/gd (d) West/afv=m

A man drives his car 6 km towards West, then
turns left and drives 3 km and again turns
left and drives 3 km. Find out the final
direction of the man from his original position.
T ARH T R Tl 6 Tl afvem o S
2, frt ard qga 3 foreft. Smar 2 ofR g @l qed
? 3 3 fFdfl. Smar 21 oTeHt w1 ardfasw T @
feem s #X?

(a) South-West /<fao-ufy=m

(b) North-West/3W-qf¥=m

(c) North-East/3W-7d

(d) South-East/3faor-qd

A postman starts delivering letters 3 km
southwards and then turns right. He covers
4 km on this road and again turns right. He
delivers letters for 3 km and completes his
daily beat. Then, he turns left for lunch at
home, which is 5 km away. How far has he
to travel to reach the post office after lunch?
T elfehan feror faen o e dfed gu 3 forefl. sman
g frt Td gear 21 9 W W 4 fHd. #1 g @@
F ® AR A ¢ gear 21 98 3 . e S
? R 39 YR SUH w1 T @ W 8, R 9w
AT R R A A & ferg =g gear €, s 5 R,
R 2 39 3 o9 FE & 9% TF W A" T *

forw ferat <0 @@ e B
(a) 15 km/fw. (b) 10 km/fw.
(c) 9 km/fw (d) 8 km /T

A cyclist rides 40 kms to the east, turns north
and rides 20 kms, again turns left and rides
20 kms. How far is he from the starting point?

T grsfae o gd ®1 ek 40 fRdl. s 2, fee
S ggHL 20 Frdl. S 2, g9: 9 g § @R
20 ferit. wmar 21 97 eTRfue fag @ faaft 30 W 272
(a) O km/few (b) 10 kms/few.

(c) 2 kms/TwH. (d) 30 kms/ .

A man is facing South. He turns 135° in the
anticlockwise direction and then 180° in the
clockwise direction. Which direction is he
facing now ?

T EH 1 §E Sfer ¥ 1 98 135° aMmEd &
o ged ¢ iR fh g 180° 3fermmed faen # gear 71
o9 39 He fwg faen & 22
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23.

24.

— SAFALTA CLASS

An Initiative by 3THIISTIcTl

(b) South-West /3f&or-ufy=m

(c) North-East/3I®-gd

(d) North-West/3Iw-uf¥=m

Laxmi went 10 km to the West from my
house, then turned left and walked 20 kms.
She then turned East and walked 25 kms

and finally turning left covered 20 kms. How
far was she from my house ?

et W SR @ 10 fordt. afvem feem & s 2, f
a1 Tt 2 eiv 20 . S 21 R e qd § qEa
25 . St @ o ofq ¥ ad gedt @ e 20 R
F1 30 T A 21 o7 9% W W Y TRt T W ef?
(a) 5 kms /T (b) 10 kms/ .

(c) 15 kms /T (d) 40 kms/ .

Rajan started from his house and went 2 km
east, then he turned right and went 3 km,
again turned right and went 3 km, again he
turned right and covered 1 km and finally
after turning right and going 1 km he

reached point 'K'. In which direction was
Rajan walking when he reached?

T 10 R Y T IR w3l 2 3R gdf o 2 feefl,
a1, R = T@ ger ok 3 fedl. T, ¢ I ge
R 3 e, T, R o < Het ok 1 fRe. = @
T H SR ofd H < ggA & % 1 ferel. = fag
'K' W qg=d 2| Ue ford faen o =t @1 o, w6 9
eT wga?

(a) West/afe=m (b) East/qd

(c) South /3o (d) North/3™

K is a place which is located 2 km away in
the north-west direction from the capital P.
R is another place that is located 2 km away
in the south-west direction from K. M is
another place and that is located 2 km away
in the north-west direction from R. T is yet
another place that is located 2 km away in
the south-west direction from M. In which
direction is T located in relation to P?

T M K S q9et P9 2 e, Sw-ufy=dt &t o
B TH E R, W K ¥ 2 foet. <faror—ufvem &1 aiix
21T M, St R ¥ 2 T, ST-ufv=m =1 31t 21 ®m
T, St 2= M ¥ 2 Sfor-ufyem =t 3 21 @ saey P
& et § T ot faen sme?

(a) South-West/<fao-ufy=m
(b) North-West/3Im-uf¥=m
(c) West/qfv=m

(d) North/3™™
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26.

27.

28.

Daily in the morning the shadow of Gol

Gumbaz falls on Bara Kaman and in the
evening the shadow of Bara Kaman falls on
Gol Gumbaz exactly. So in which direction
is Gol Gumbaz to Bara Kaman ?

Jfafsd gag el e 1 BE1, G- HAF § a9 AW
1 IHI YHR IR FHAMF H BET el Tes § R 21
THfeTY, SN M & el § e e e 0 22

(a) Eastern side/qd fem
(b) Western side/qfe=m faen
(c) Northern side/3 fawm

(d) Southern side/3f&or fezm

One morning after sunrise, Gangadhar was
walking facing a pole. The shadow of the pole
fell exactly to his right, which direction was
he facing ?

e TR gART & 9% TF T H AR o 2
Y H ST Ik SHE ¢ veSdl ¢, SHHT §E e
feen & em?

(a) South /3o

(b) West/qf¥=m

(c) North/3T

(d) East/7

A person walks towards his house at 8 : 00
am and observed his shadow to his right. In
which direction he is walking ?

Th EHT S SR 3R 8:00 am W werdl © AR
IHH WS T T qgdl 21 o8 Tor fewn # =1 w1 22
(a) North/3™ (b) South/zf&ur
(c) East/q@ (d) West/qf¥=m
Sumi ran a distance of 40 m towards the

South. Then she turned to the right and ran
for about 15m, turned right again and ran S0m.
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29.

30.

turned to the left an angle of 45° and ran. In
which direction was she running finally ?

it =feror feen 1 3R 40 . i€, Rt e 3¢ gea
T 15 ", qrE, @ ¢ gEr @R 50 | qEh
@ e 3R 15 W S o | 9 aid 45° gt 3R
3t ofd o o fora faen o g @ o2

(a) South-East/gf&or-g4

(b) South-West /3f&or-ufy=m

(c) North-East/3W-T&

(d) North-West/3Iw-uf¥=m

Keeping her back towards the rising sun,
Reshma starts walking. After a few minutes
she turns left and keeps on walking. Then a

little later she turns right and then left. In
which direction is she going at the moment?

TR & T gA 1 IR WS Fh T T IR
F 7, HY HA 9%, T8 3 T IR Fowdh T EHS
THY I, 9 10 S TR 9 SR gedi €1 o 97

fora fam =t ok = @ ?2
(a) South/zfaf0 (b) East/q@
(c) West/qfv=m (d) North/3IW

Ram is facing North-West. He turns in
clockwise direction by 90°, then 180° in the
anti-clockwise direction and then another
90° in the same direction. Which directions
is he facing now?

I IW-feam ¥ uet w1 fgen § 90° frR =t wt
ool feen o 180°, qA: S#i faen o 90° et ®, o
e fwg faan ® @ 22

(a) South-west/3f&o-afe=H

(b) West/qfv=m

(c) South/3f&ur

(d) South-east/=f&o-Td
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